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Question Number : 1 Question Id : 7150531072 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the example from the following that refers to ‘Growth’ and NOT
‘Development’
&obard K08 ‘D0 THm DNieH Hrdod awrrdekh Hbosod
Options :

Mahith 1s able to hold the pencil more firmly as compared to the previous

vear
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Archana, a six month old baby, smiled on seeing her mother
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Virat who used to cry when his mother refused to give sweets now
understands that her intention 1s to keep him healthy.
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Gita has increased by an inch in height in the past six months
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Question Number : 2 Question Id : 7150531073 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Under development of thyroid gland results in
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Options :
Retarded growth
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Gigantism
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Unusual excitement
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Restlessness

Question Number : 3 Question Id : 7150531074 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Learning CANNOT happen without this
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Options :



Learning Goal
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Motivation
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Experience
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Instructor

Question Number : 4 Question Id : 7150531075 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A candidate has attempted various aptitude tests and his performance was best

on the test of ability to perceive words and numbers with speed and accuracy.

The profession in which he would be more successful 1s
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Options :

Musician
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Clerical jobs
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Scientis
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Any outdoor sport
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Question Number : 5 Question Id : 7150531076 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To create a non-threatening learning environment. a teacher should NOT
encourage
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Options :

aggressive behaviour
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empathy among students towards each other
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stress free atmosphere
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Question Number : 6 Question Id : 7150531077 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The tendency to assign positive qualities to a person or thing based on any one
aspect 18

ooy s o
oo™ 25

a5

I - =
2 e e A LIV SR Y . SRV Y e s N L o
080 WEPOOMP 2,5 &5 B el JPEFe oiere) Bardod §06
Options:

Horn effect
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Objectivity
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Neutrality
e
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Halo effect
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Question Number : 7 Question Id : 7150531078 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A Grade VI teacher has taken her students to a local market vard to make

students understand certain concepts in economics. The learning resource used

b‘_i' the teacher 12
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Community
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Peer group
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Technology
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Question Number : 8 Question Id : 7150531079 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to Continuous and
Comprehensive Evaluation (CCE)
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CCE 1s recommended by the Right to Education Aect, 2009.
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1.% )

As part of CCE system. the performance of students shall be assessed in all
three learning domains
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CCE aims at conducting only one single test at the end of each class from
class 6 to 10.

e pagian o Frgl £ Rt g e ey
CCE ©F;0 6 hofs 105 83148 565 @58 83138 D866° 2.5 2.5 H05: Airosio

3.v

school.

5 ok ot : E £y
CCE o0 How rbzod” 68) sPeod” o8 (8 @oaed drerosso dobio

Question Number : 9 Question Id : 7150531080 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
One of the following is the correct explanation of learning
808 o8&t 2,58 egiraaras G0 Db

Options :

Compulsive behaviour due to certain addictions
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Relatively permanent change in behaviour due to experience
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Inborn perceptual process independent of any experience
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Question Number : 10 Question Id : 7150531081 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Behaviguriam focuses its attention totally on

o
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Options :

1.4

2. %

Observable behavigur
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Perception of whole
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Functionality of contents
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Unconscious mind

Question Number : 11 Question Id : 7150531082 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This type of parents establish strict rules for their children to follow and do not

explain the reason behind setting the rules
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Options :
Authoritative
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Permissive

Authoritarian
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Question Number : 12 Question Id : 7150531083 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Understanding the socio political context of education helps in critical analysis
of educational policies and practices. One of the following is NOT an objective of
critical analysis of educational policies and practices
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Improve achievement of all learners
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Prepare students for democratic society
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Reduce educational mnequalities
g S0P WREPHSed dhotito
3. a 0
Increase the divide among the learners
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Question Number : 13 Question Id : 7150531084 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

To achieve maximum positive transfer the learner should
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Link present learning to past learning
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Question Number : 14 Question Id : 7150531085 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Full and harmonious functioning of the whole personality 1= called as
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Options :

Attitude
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Intelligence
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Self concept

e

4 ) '::qx: ﬁ"”c‘f‘}ﬁ

Question Number : 15 Question Id : 7150531086 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The pavchologist Ebbinghaus is known for his work about the phenomenon of
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Question Number : 16 Question Id : 7150531087 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The parents of a two year old child whom they wanted to admit in nursery took
the child to a school. The school after interacting with the child told the parents
that their child needs some more time to join nursery section. The response of

the school 1s related to this learning prineiple

Options :

readiness
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Question Number : 17 Question Id : 7150531088 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The schedule of reinforcement where a learner 13 NO'T sure about when he 1s
gﬂing to be given the reinforcement is
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Options:

Fixed Ratio Reinforcement Schedule
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Fixed Interval Reinforcement Schedule
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Continuous Reinforcement Schedule
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Variable Reinforcement Schedule
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Question Number : 18 Question Id : 7150531089 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the norms and standards given in the schedule of the RTE Act, 2009, in

a school conducting classes sixth to eighth, there shall be at least one teacher

per class o that there shall be at least one teacher each for
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Options :

(1) Science & Social Studies, (i) Mathematics, (1ii) Languages
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(1) Science & Mathematics, (11) Social Studies, (iii) Languages

X g S A SR JOUE P

- (1) Depd 2o & o, (ii) aPoing aogo. (iil) ersien

(1) Seience & Languages. (ii) Social Studies. (ii1) Mathematics
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(1) Seience, (11) Social Studies & Languages. (1i1) Languages & Mathematics
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Question Number : 19 Question Id : 7150531090 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement with regard to fertilization in identical twins
S8R Sdeedt Hebitards Honohod) R0 FJE': Sabods fDBook

Options :

single ovum is fertilised by single Sperm

2.8 @otio &.8 HESmo e ebidno Bothiod
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single ovum 1s fertilised by Two sperms
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Two ovum are fertilised by single sperm

Ooth wotmen 2.8 H58mo Tl nebdidno dothaon
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Two ovum are fertilised by Two sperms
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Question Number : 20 Question Id : 7150531091 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Kohlberg explains moral development of a person in relation to their
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Physical development
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Language development

5 % ERAP SITPMO
Cognitive development
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Emotional development
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Question Number : 21 Question Id : 7150531092 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator :

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

None Response Time : N.A Think Time : N.A Minimum

Asha keeps learning from varigus online sites as it gives her immense pleasure.

This 1s an example of
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Options :
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Extrinsic motivation
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Unnatural motivation
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Forced motivation

Question Number : 22 Question Id : 7150531093 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator :

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

None Response Time : N.A Think Time : N.A Minimum

Identify the INCORRECT statement relating to inclusive education
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4.

Inclusive education strengthens social integration
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Inclusive education is realization of rights of all children mrrespective of

their diversities
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Inclusive education means all children learn tn:}gether 1n same school
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Question Number : 23 Question Id : 7150531094 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Piaget’s theory of cognitive development, the unit of one's cognitive structure

18
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Options :

Agsimilation



Accommodation
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3. %
Equilibration
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Question Number : 24 Question Id : 7150531095 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A parent guides his child to see that his child becomes independent and at the

same time 1s cautious to develop doubt and shame in healthy limits. What 1s the

age of the child in this example as per Erkson's theory of Psycho-social

development?

Options :

12 to 3 years

1 Vo oof 3 Sosdoren
1.9 o

6 to 12 years

6 ol 12 SHodHidTren
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3 to 6 years



12 to 19 years
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Question Number : 25 Question Id : 7150531096 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

According to Bruner, learning 1s

e

ErRb Hedo, @&:Hko
Options:

A deductive process of moving from generalisations to specifics
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A random trial and error activity
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An Active process of discovery
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A conditioned response to stimulus
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Question Number : 26 Question Id : 7150531097 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

One of the following is NOT a feature of collaborative learning
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Options :

Interdependence
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Common goal
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Collective responsibility
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Solitude
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Question Number : 27 Question Id : 7150531098 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘The child's hands develop before the palms and the palms develop before the

fingers’. The principle of development that does NOT relate to this 1
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Options:

Proximo-distal direction
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Individual differences

20083 Zoren

oSS &

2. &

Development is continuous
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Development is general to specific
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Question Number : 28 Question Id : 7150531099 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The performance of class VI students improved by 15% on receiving incentives

from teachers. The dependent variable here 15

P Y . L. . -] -:‘i:\ . -‘f e c X v o , J.n_—l__ '," oy = Ee as i £
sarrmdne Dol Feprrer  fPotito mmoe #5618 VI e Dkl

2
—
i
L%}
=

drbaitod. 55k HddoE Hic

Options :

—

1 % 15%
Incentives
e .

2 % E,"jDJSEET\J
Performance

3 ol a?c;.ﬁ‘j

2h



Teachers
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Question Number : 29 Question Id : 7150531100 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A teacher shall conduct teaching in this way
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Options :

teach keeping the learner in mind
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teach ev ery pne 111 same manner

teach any subject in the same manner
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teach any lesson mandatorily using ICT
4% 2 BT 53056 ICTI e5@rAcd 6o

Question Number : 30 Question Id : 7150531101 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



As per NCF, 2003, the curriculum must enable children to
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Options :

reproduce textual knowledge
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acquire knowledge from teacher only
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prepare for examinations
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Sub-Section Number : 1

Sub-Section Id : 71505358
Question Shuffling Allowed : Yes
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Question Id : 7150531102 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
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Question Number : 31 Question Id : 7150531103 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 7150531104 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 7150531105 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 7150531106 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 35 Question Id : 7150531107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 71505359
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 7150531108 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 7150531109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
ol aPraPped® srpadired asdsedo Gofith-

Options :



Question Number : 37 Question Id : 7150531110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150531111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 7150531112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 7150531113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 71505360
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 7150531114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 7150531115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150531116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 7150531117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 7150531118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 7150531119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 47 Question Id : 7150531120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 7150531121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 7150531122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Options :

o
P

’I' o E000

[
EEN
(]

4, #

Question Number : 50 Question Id

: 7150531123 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id

: 7150531124 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 7150531125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 7150531126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150531127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 7150531128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150531129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 7150531130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 7150531131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 7150531132 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 7150531133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id : 71505338



Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 71505361
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 7150531134 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the
correct option for each guestion.

Philadelphia 1s a city known for many things. It 1s where the Declaration of
Independence was signed i 1776, and it was also the first capital of the United
States. But one fact about Philadelphia 1s not so well-known: it 1s home to nearly
3.000 murals painted on the sides of homes and buildings around the city. In fact,
it 1 said that Philadelphia has more murals than any other city in the world, with
the exception of Fome.

How did this come to be7 More than 20 vears ago. a New Jersey artist
named Jane Golden started a program pairing troubled youth with artists to paint
murals on a few buildings around the citv. From this small project. something
magical happened. The young people mnvolved, helped to create magnificent
pieces of art. but there were other, perhaps more important benefits. The voung
people learned to collaborate and get along with many different kinds of people
during the various steps required to pamt and design a mural. They learned to be
responsible, because they needed to follow a schedule to make sure the murals
were completed. They also learned to take pride in their community. It 1s hard for
any resident to see the spectacular designs and not feel proud to be a part of
Philadelphia. Take a walk around some of the poorest neighborhoods in
Philadelphia, neighborhoods full of broken windows and littered front steps. and
vou will find beautiful works of art on the sides and fronts of buildings. Of course
the murals are not just in poor neighborhoods, but more affluent ones as well.
Special buses take tournists to different parts of the city to see the vanous murals,
which range from huge portraits of historical heroes, to cityscapes, to scenes
depicting the diverse ethnic groups that call Phiuladelphia home.

Sub questions

Question Number : 61 Question Id : 7150531135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement from the passage.

Options :

The young people learned to collaborate with other people during painting and
1 % designing murals.

5 % The young people involved. helped to create magnificent pieces of art.



Jane Golden’s mural program has become a model for other cities throughout the

country seeking to help troubled youth.

4 Philadelphia has the highest number of murals in the world.

Question Number : 62 Question Id : 7150531136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
As per the passage. the troubled youth are paired with

Options:

1 % Jane Golden

2 artists

3 % tellow troubled youth

4 % local politicians

Question Number : 63 Question Id : 7150531137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
As per the passage. who were benefitted due to their involvement in the mural program?

Options :



1 % fthe troubled politicians of the city

5 % the troubled artists of the city

the troubled youth of the city

the troubled residents of the city

Question Number : 64 Question Id : 7150531138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Of course the murals are not just in poor neighbourhoods. but more affluent ones as well.

Choose the synonym for the word “affluent.”

Options :
_— rich
2 % poor

3 % lacking

4 % nsutficient

Question Number : 65 Question Id : 7150531139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

As per the passage. the USA’s ‘Declaration of Independence’ was signed in

Options :

1. % Washington DC

2 % Rome

3 % New York

4 Philadelphia

Sub-Section Number : 2
Sub-Section Id : 71505362
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7150531140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

World Down Syndrome Day 1s observed every year March 21 every year.

Choose the correct option.

Options :
1. 4 011
> % In



woover

4 % through

Question Number : 67 Question Id : 7150531141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

During their visit to India. the fanuly saw

Identify the appropriate option to complete the sentence.

Options:

a Ta) Majal

5 % an Taj Majal

3 « the Taj Majal

4 % TajMajal

Question Number : 68 Question Id : 7150531142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The trees along the road down during the road widening work.

Choose the correct option to complete the sentence.

Options :



1 % were fallen

>  were felled

3 % were fell

4. % felled

Question Number : 69 Question Id : 7150531143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The presence of large number of people immense noise to the neighbours.

Choose the correct option to complete the sentence.

Options:
1 % cause
5 % have caused

3 % causing

4. caused

Question Number : 70 Question Id : 7150531144 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The study reveals that spending excessive time with mobile phone the cognitive
level of the children.

Identify the appropriate option.

Options :
1« atfects

> % affecting

3 % affect

4 % affected

Question Number : 71 Question Id : 7150531145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct option in which the jumbled words are ordered.

tirst/will be/the assessment/in /Whoever/ promotion/ given/comes

Options :

_— Whoever will be given promotion comes first in the assessment.

) Whoever comes first in the assessment will be given promotion.

3 % Whoever in the assessment comes first will be given promotion.



4 % Whoever comes promotion first in the assessment will be given.

Question Number : 72 Question Id : 7150531146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

At last, the young man started eating like a horse.

The meaning of the expression “eating like a horse”

Options:

1 % eating a very little

5 % cating moderately

eating reasonably

cating too excessively

Question Number : 73 Question Id : 7150531147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The teacher asked the students. “Have you completed your project?”

Choose the correct reported sentence.

Options :

The teacher asked the students if they had completed their project.



> % The teacher asked the students if they have completed their project.

3 % The teacher asked the students if had they completed their project.

4 % The teacher asked the students if have they completed their project.

Question Number : 74 Question Id : 7150531148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Neither her father  nor her mother never scold her.
A B £ D

Options :

1.% A

Question Number : 75 Question Id : 7150531149 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The staff have never mussed the time line.

Choose the cotrect question tag.

Options :
haven’t they?

1. %

> % has they?

3 ¢ have they?

4 % dothey?

Question Number : 76 Question Id : 7150531150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

She the party. had she been mnvited.

Choose the correct option to make the sentence grammatically correct.
p — v

Options :

1. % would being attended.

> % would be attended

3 % would has attended



4.« would have attended

Question Number : 77 Question Id : 7150531151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. Rishab Pant can be able to play cricket again

Choose the appropriate phrase to complete the sentence.

Options :

1 % Incase ofhis life-threatening accident

> « Inspite of his life-threatening accident

3 % Inthe event of his life-threatening accident

4 % Though his life-threatening accident

Question Number : 78 Question Id : 7150531152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

After Covid-19. spread of various respiratory has increased.

Choose the correct option to complete the sentence

Options :

1.« diseases



2 % deseases

3 % diceases

4 % deceasiis

Question Number : 79 Question Id : 7150531153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“The army repelled the attack.”

Identify the antonym for the word ‘repelled’ in the sentence.

Options:

1.« attracted

5 % repulsed

3 % fended off

4 % warded off

Question Number : 80 Question Id : 7150531154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A) What 1s the sound about?

B) Somebody in the room!

Choose the correct option complete the sentence.

Options :

1. % cried

> 1S erying

3 % had cried

4. % hascried

Question Number : 81 Question Id : 7150531155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Choose the CORRECT sentence.

Options :

1 % The old man 15 too weak that he cannot be walk.

> ® The old man is week and so he cannot walk.

3 % The old man is so weak he cannot be walk.

4.« The old man is too weak to walk.



Question Number : 82 Question Id : 7150531156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the silent consonant letter in the word ‘indictment’?

Options :

Question Number : 83 Question Id : 7150531157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘The robber has been arrestad.

Identify the correct Active Voice sentence for the given sentence.

Options:

1% The police arrested the robber.

5 % The police has been arresting the robber.



3 ¥ The police have arrested the robber.

4. % The police arrest the robber.

Question Number : 84 Question Id : 7150531158 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word to complete the following sentence.

Prof. Meera is a teacher.

Options:

1 professional

5 % Pro fesional

3 % profetional

4 % proffessional

Question Number : 85 Question Id : 7150531159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘The student narrating an interesting fantasy story in the class.”

This 1s the example of the following language function.

Options:



The Instrumental Funetion

2 % The Heuristic Function

3. % The Regulatory Function

4. The Imaginative Function

Question Number : 86 Question Id : 7150531160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The process of quantifying numerical expression the characteristics of persons’ performance

according to explicit procedure and rules is called

Options :

1. % Test
> % Evaluation
Measurement

3. %

4. % Assessment

Question Number : 87 Question Id : 7150531161 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the feature of remedial teaching.

Options :

1% I 1s more formal theory teaching than practice.

5 « 1tishighly specific and need-based.

3 % It will interfere with new teaching.

4 % It 15 a regular classroom teaching.

Question Number : 88 Question Id : 7150531162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

*Voice modulation and body language’.

This 1s a feature of the following discourse

Options :

1.« Speech

2 % Letter

3 % News report

4. % Biographical sketch



Question Number : 89 Question Id : 7150531163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In language acquisition, the child acquires the language
Options :

1 % traditionally with more repeated practice.

5 % conditionally with regular practice.

3 % consciously with practice.

4 naturally without much practice.

Question Number : 90 Question Id : 7150531164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher of class 8 engages her children in pre-reading activity.

This will help the learners to

Options :

1. % write the reading text in their notebooks.

5 % summarise the text that they are going to read.



3 % memorise the meanings of the difficult words and reading text.

4 connect the text to be read with their previous knowledge.

Mathematics
Section Id : 71505339
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 71505363
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 91 Question Id : 7150531165 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :



3¢ 3
4. % —53

Question Number : 92 Question Id : 7150531166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If sin(A+ 4B) = 1andcos(A + 2B) = i where A >Band A, B are acute
angles. then the value of angle A 1=

o o
] s N i
Anda A B en e Boren 50830 A > B

S [ L o T \_-’j G'u. E wal P_;'_-' ':'.J;'-\.:'I:j::.-'.-' H 3 -

sin(A + 4B) = 1£:68c cos(A+ 2B) =

[ =
P

2 }
@one, 5'm0 A 005; Jend
Options :

o

| % 15

30°

3 % 45

4, % 60



Question Number : 93 Question Id : 7150531167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A circular flower bed is surrounded by a path with a uniform width and the

area of the path 15 263.76m?. The diameter of the flower bed is § meters, then

the width of the path (in meters) i1z (Take m = 3.14)

¢ T ARV A o - L YT S of
e - B Rty o - S08 5 e ™ i
u:.-”?T:i'tJ "2 IS oJPLEY X .::' ool od f:u.'fﬂ‘l:.lch, e o DO o000 o0O0XD o1T7 o 57
- & 0 &

FTego 263.76 S5 et dre Iw¥e Pt ko 8§ Mok wond Frfo GuE)
Stéen) (L&) (1 = 3.14 e &5&rAoNol)
Options :
1.v 6
2.% 8
3. % 4
>
4.% ©

Question Number : 94 Question Id : 7150531168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Choose the measurements from the following with which a triangle can be

constructed.

B ol Rt o At o B af L
S0 Bed] 2l o SFode "‘?: 2.5 (BEET ey olO0TIenddy.

Options :



dem. Scem and dem

—

- P~ o
A4 = e = e & . A O
4 Do.ak., 8§ Do.sh. s0bdm 4 No.au.

6em, 12cm and Sem

Qr\.
h
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2 @ 6&-@{4.. lf r\,D-::_AJ ET.L'”'

Ocm. Sem and 3em

3 % 0 Sa.do., 5 Dodh. 0bdn 3 o.6n
3em, Sem and 7em
4. 3 R0.50., 5 Do.ab. subBd 7 o.ab

Question Number : 95 Question Id : 7150531169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

, : . ;o
In a geometric progression, the 3t tapm s i and the 78 term 1s = then the

10t term is:

o ez 1 T | . s
2.8 hesal & 33 Hdsm E:.“’J:-Jo“?u,- 753 sat3ain s eca 108 58:00:
Options:
1. % 256
1
5 % 2048
1

3. v 1024



Question Number : 96 Question Id : 7150531170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If x* + y* = 66x2y2, then log(x? — y?) =
x* + y* = 66x2y? womd log(x? — y?) =

Options:

8(logx + logy)

> logx +logy +log 8

3 % logx +logy —log8

(logx+logy)
4, % :

Question Number : 97 Question Id : 7150531171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The mode of a data 13 12 and the arithmetic mean 1s twice that of mode, then
1ts median 1s

2]
[#

(8
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Options :

16
2 % 18
3. 20
4, % 22

Question Number : 98 Question Id : 7150531172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose a correct statement related to sets.
REEed donohod) D0 aPED aoHE ok,

Options :

Set of even prime numbers is an empty set.

NP v L - ) R Y
1. % e [pdTFPe) 2O ploDes T J7 edolded f:'.‘n__l;‘{‘_?-\.aﬁh.



If P= {x:x is a common point to any two parallel lines in a plane}, then

P 15 an infinite set.

J

R N S L . -1 W T L N T iy
P = {l. X 00 2.8 S008°0) Lo Colh deiroid Ope canb Sod c:,} &0,

If G = {x: x is a multiple of 3}, then G is a finite zet.

3 x O ={x:x =36 3wy iodeo} eons. G HBIE HE oHob.

Set of odd natural numbers divisible by 2 15 an empty set.

4 2 F grRodHat: B G Hope S8 b Hhd oHEod.

Question Number : 99 Question Id : 7150531173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Chooze an INCORRECT statement related to tangents to a circle from the

following.

. . . o s .:Jm_n
Eob ardE” ol H,m08 L5090 Jonofod) H85°R gD JoSHsbad.

= g _= [,

Options :

There are an infinite number of tangents to a circle passing through a

point inside the circle.

I
Py

a & i e i ) s - L e 2
He o 2 DothHiHomaar HE08 @RS 55 0o AcHBSH.

0o
(i

There 1= one and only one tangent to a circle at a point on the circle.

&
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w e - B M ad, = 4 £ = R 34 i F -
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There are exactly two tangents to a circle through a point outside the

circle.
4o Al e By Bl oy Y T YR N MRS YV Y S
$Hyfo Jde feo o dothidiborrgare @8 i Binm Sotd Y090
A T AR

3 % ﬁ@fuau;_ ol

The tangents to a circle at the end points of a diameter are parallel.

o i
- * ” T - i F Sy - oy o e e i > : i
4 % 2.8 338 aPgien D26 fothaye S AAHaGS &5 0yen JsirodTren.

Question Number : 100 Question Id : 7150531174 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The average human heart beats 1s 72 times per minute, then the number of

times 1t beats mm a week 13

o

PR D06 HTPREN AP T2 arh Bépthotnod. obh el rlod” O e

-

BT Ao M e =

Options :

3 % 454620

4 725760



Question Number : 101 Question Id : 7150531175 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Iftand + cotd = %. then tan? @ + cot? 8 =

tan@ + cot@ = % eond tanZ 8 + cot? @ =

Options :

1.8 1
i
> ®% 20
a1
3. & 400
ﬂ
4 w 20

Question Number : 102 Question Id : 7150531176 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A square shaped gold sheet 1s of side 28cm. From it, 50 circular buttons, each

of diameter 2.1em have been cut out. then the area of the remaining sheet { In

. W 22
sq. cenfimeters | 1s (Take /g 7)

P PR o = NV T S e . = BuE . B = & ISR
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(}T =l &ndirfodob

Options:



, x 173.25
3 % 693
a.%

Question Number : 103 Question Id : 7150531177 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The least number that 1s to be subtracted from 7776 to make 1t a perfect
square 1s
7776 508 O 534 Sogsh E1IRS &b HBFFY Ho ©HFoB.

Options :

—
4

I

A

]
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Question Number : 104 Question Id : 7150531178 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

zn n

(64) 2 x(27)e

e,
(48)=z

Options :

2?1

22?‘1

62:‘1

Question Number : 105 Question Id : 7150531179 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A cinema theater has 200 tickets which are numbered from 1 to 200. If one

ticket 15 selected at randomly from them, then the probability that 1t bears a

3-digit number which 1s divisible by 6 1s

Options :
3
1 % 200



17
3 200
16
4 % 101

Question Number : 106 Question Id : 7150531180 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rahul deals with second-hand goods. He bought a second hand television for
£42.500. He spends 7450 on transportation and 3330 on its repair. If he

sells 1t at a profit of 25%. then the selling price of the television is

v B Der  ofud bt gy =il P PV R Ll ae D ooy Bl
OPodE)  oPE E:'N,Q_:Eac‘\-‘H Sl ':':'-'cﬂé ?:JODD Tenmply., @E . e H0dsd D
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Options :

8,125

N

1.¢ %

« ¥38.000

“AY
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4 % 56,000



Question Number : 107 Question Id : 7150531181 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose an expression from the following which 1s NOT a polyvnomial.

e i L VAR = S ¥ AT wf ot T _\_{__i—v"ﬁg -
ip@& o) rnob Derlod S ru--:h_l_?"'r?'::u::-‘_ aJOTS Ol

il

Options:

1 % V5x2 + 8y

> '-.,-"E-I-‘lﬂj’

4 % 4xy—5

Question Number : 108 Question Id : 7150531182 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
If the edge of a cube is decreased by 5%. then the decrease percentage in its

total surface area 1s

R T ) —= U - L "_‘ Ty R _m__\_-f.»n- ‘
HeNanmell) OIS @olal 3% S8R, TP wourlde adorod” S 80
: o= =) RS o 0
Options :
. 3%
1. % )
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Question Number : 109 Question Id : 7150531183 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Two supplementary angles are such that three times the measure of one 1s
equal to five times the measure of the other. then the measure of the greater
angle 1s

CotD Rourds Bered” o8 ) dirfode Fod 308°5mn oh 0 Fedd Dirdo,

Options:

1.

i12%
v 2
671
% .
402
5 2
1391
5 2

:Yes



Question Number : 110 Question Id : 7150531184 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The y - coordinate of a point is positive in

by
(I,

. R ¥ . . Ty g i R P et - >
2.5 slolinay I0E; Y — Wtirabo o ardod (:'n_":'."_':
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The First and The Second quadrant
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1.« <00 HBcn Coisd arto

The Second and The Third quadrant
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2 # OO0l :uﬁdi; ol P Cae) oPCI0

The First and The Fourth quadrant
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3 % sodt) subain Treniis P00

The Third and The Fourth quadrant
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4. & SUTPES s0Bdin Treniis artlo

Question Number : 111 Question Id : 7150531185 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Choose an INCORRECT statement related to bar graphs.
Bob 8ER Dok é;:j.;._? Ogr Db Sonodod) S8SPR D oo 5EPOR.

Options :



Bars of uniform width are drawn horizontally or vertically.

[l -
ALY e N Y- il |.—\ _‘, 2 ‘
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Bars are drawn with equal spacing between them.

, % Shue Hi; $irs osdo Hot Hore A8To.

The length of each bar represents the respective frequency of the data
In proportion.

o B N Sl gt Lk D g
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The iength of each bar depend on the length of other bars.
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Question Number : 112 Question Id : 7150531186 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Two pipes A and B can separately fill a tank in 80 minutes and 120 minutes
respectively. If both the pipes are opened simultaneously then the time taken
(in minutes) to fill the tank is

Gotd Dden A 5066 B e 28 érobhd Jodmds $dmr §0 Jinakes Hbd

- Iy e e s o —: # £ ) e
120 DimaPe $cho HtaEod. Botd VYo wFPE $898 trod Dokmns H8

Hen6ho (Aénarad®)

Options :



. M

3.v
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=

Question Number : 113 Question Id : 7150531187 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A statue stands on the top of a 15m tall pedestal. From a point on the ground.
the angle of elevation of the top of the statue 13 60 and the pbservation point
moved 4v/3 meters towards the pedestal of the statue, from that point the
angle of elevation of the top of the pedestal 1= 30", then the height of the

statue (in meters) is
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Question Number : 114 Question Id : 7150531188 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If P = {x : x is a prime natural number and x < 9},
@ = {x : x is a prime factor of 210}, then

- ¢ - _j LT " ATV s S LA DA s
P = {x : x o386 2.5 {Hoesd Sire: Hogy 80 x < 9},

Options :

1 % nPNQ)=0

5 % n(P) > n(Q)

3 % TP <n(Q

4. n(P) = n(PnQ) =n(Q)

Question Number : 115 Question Id : 7150531189 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statement(s) veflect(s) the nature of the

Mathematics?
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A) It is a broader Science that deals with data analysis. methods of proofs
based on logic and reasoning.
56 #50 O @"‘vﬁgéo sirdorr Sgtod  Ddim, WEdBe a’gé.eﬁ“
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B) A study of numbers, shapes, patterns. measurement. quantity and

magnitude.

./'

Rogren, @sTren, HelParen, Soden, 0:rmo B0 HBS dins, eti:dblo.
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G
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Options :

A 13 True and B 1s False

5 ;—l's. w@ O E)aﬁi... B -.'\,3- 0

1.

A 1z False and B 15 True
> ® A W0 s006cm B a0
A and B are True

3 ¢ A 506cw B en &850
A and B are Falze
4 % A £8cin B en &80

Question Number : 116 Question Id : 7150531190 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

A learner applies the theorem of Parallelograms on the same base and
between the same parallels to prove that “the Area of the triangle 1s equal to
half the area of the parallelogram on the same base and between the same

parallels”. Then this learning outcome falls under the following instructional

objective:
2.8 Ozrhtd, “e8 ¢rdup HBdD 2.3 Sirost Byw i Ko Bbeo g Jeeo,
Birosy H&thmo ) Ferops® SIS Hirse” @l AsrhodERS, &8 iR
%60 62 S5rodd Sye D i o darodd éiﬂ;bﬁﬁsj DPoBA) E{EO&’E'“(%_D'H::
3t & 6l HO80 Sob PARATNE r_,io Soti% Hpod
Options :
Application

1« DA&EPo
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£s

Understanding

3. % ENMTIPR

Enowledge

»
&R0

4. % =

Question Number : 117 Question Id : 7150531191 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



“Connecting previous knowledge and experiences that a student has with the
current topic”, this happens at the following stage of the 5-E learning model

<

o g n A e VS IV ST FE e
a8 defs 66Xy el e2do HHbchn ehdired pnd wodfod” addoraosto”,
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Options :

Explore

- T Hosto/ aw:.@faf‘o

Explain

o % wHdodto

Elaborate

[
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3 % BEBosEo

Question Number : 118 Question Id : 7150531192 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Secondary Schools, the following facility helps the learners to understand
the basic mathematical concepts, relations. proofs for theorems and scope for
mnovations through hands-on experience 1s:

DE0id rdToad @83 oDHo orte @PEE HBd grdide HmERY, Jonotren,
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Options :

Library

1. % Dogreddo

Mathematics Lab

T
1§ _p”hi- L

Lk,
S

2. o 15t

Mathematics seminar

Question Number : 119 Question Id : 7150531193 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The teaching plan helps the teacher to equip oneself with clear thoughts
about what content to teach, when to teach, an overview of what
competencies to be developed among the student community and of

mathematical activities to be conducted in the academic year of the following

- 2 = g sl o = R = Dy L ]
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Options :

Period Plan
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Leszon Plan

ey @erds

2. %
Unit plan
3 % Gr e PHerids
Annual Plan
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Question Number : 120 Question Id : 7150531194 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the appropriate tools that can be used to assess the involvement of a
learner n doing mathematical projects among the followimg:
Boh TEE wgrBl fdd ErEDe OUrad Do DT 8BRS Firod
foBotiok:
A} Wrtten test

g 588
B) Rating scale

3t3oR Wye

C) Checklist
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D) Viva-Voee
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Choose the correct answer:
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Options:



A & Bonly
A & B sr@gsd

1. %

A& Conly
5 % A & CirEa

B. C & D only
3 ¥ B. C & D Sm@ad

C & D only
4w C & D srEas
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Section Id : 71505340
Section Number : 5
Section type : Online
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Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 71505364
Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 121 Question Id : 7150531195 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the planet among the following which has ring system around it
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Options :

Jupiter

Venus

g

Question Number : 122 Question Id : 7150531196 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Nalla walley Vana Samrakshana Samithi is located in this district
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Options:



Adilabad
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1 % SOl

Khammam

5 % PEN0

Medal:

Warangal
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Question Number : 123 Question Id : 7150531197 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Irrespective of the distance from the object to a mirror, the image always appears

erect. Then the mirror is likely to be
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Options :

Only plane mirror
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Only concave mirror
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Only convex mirror

3. % = -
Either plane mirror or convex mirror
wende B0 S Hoorsed B0
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Question Number : 124 Question Id : 7150531198 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The value of universal gravitational constant “G” first experimentally calculated

by
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Options :
Newton
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Henrv Cavendish
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Question Number : 125 Question Id : 7150531199 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The commercial unit of electric energy 1s

Options :

1. & KW
2 % KWs
3 @ KWh

4 % Joule-zec

Question Number : 126 Question Id : 7150531200 Question Type : MCQ Option Shuffling
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ores of which of the following metals occur in nature as sulphides
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Options :

Aluminium, Silver, Gold
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Manganese, Calcium, Sodium
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Magnesium, Silver, Iron
g
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Zinc, Mercury, Lead
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Question Number : 127 Question Id : 7150531201 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The synthetic fibre obtained from plant cellulose among the following
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Options :

Ravon
1.+ Boirs
Nylon
2 % S
Jute
3 % esmmard
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Question Number : 128 Question Id : 7150531202 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fan

The standard used by the o1l industry to measure the volume of Petroleum 1s “X
and one X 1s equal to “Y" litres. Then identify X and Y
2T DADo 08 $Biireo Bedteds Hand H8E shHR, pirso ‘X" iubdin a8 X
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Options :

X = barrel: Y=169
1.8 X= eP0e: Y=169

X = gallﬂn: Y=159
X =mes: Y=159

L]

[

X = barrel: Y=159
3¢ X= 06 Y=159

X = gallon; Y=169
X =mred: Y=169

Question Number : 129 Question Id : 7150531203 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify ‘X' in the following chemical reaction
Sod Jarchid $38;8° ‘X'  fhBodol

N325D4 + Ba{:lz — E +NC|.C1

Options :

Barium chloride

o
e
Blalovile % oG

1. %
Barium sulphate
5 =Bdio Fﬁg':f
Sodium chloride
3 % SElcoo 5—?"'§

Sodium sulphate

Tl e
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Question Number : 130 Question Id : 7150531204 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The difference of neutrons in Deuterium and Tritium
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Question Number : 131 Question Id : 7150531205 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The electronic configuration of an element Z=2.8.2. Then it belongs to

Zo
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Question Number : 132 Question Id : 7150531206 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An element X forms a fluoride XF3. Then the valency of X
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Question Number : 133 Question Id : 7150531207 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Read the following

elalrvp i Eatatalele

A) Nature 1itself chooses or decides which organism should survive or perish m
nature. This is the meaning of ‘survival of the fittest’.
BE)86° o 49 SN FhoTS” B 80T HE)H Hdbor wothhotnod B
AT PR .4 RN gl B 1 L R
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B) Inan organism, traits that are not useful to it will perish and the traits that
are useful will be passed on to the next generations.
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Ehars drred votiEdhatieron.
Choose the correct option:
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Options :

*A’ 15 correct but ‘B’ dose not explain ‘A’ exactly.
‘A’ 5858 =5 ‘B’ pdhdorr ‘A 258038,

1. ®
‘A’ & ‘B’ both are correct but are unrelated to one another.
2 s ’31. & B EOL\..J rﬁwé&.- 5"3-:\.- LHEE:I""W{E? é PCAG'EC'DETEC-" égv'g
‘A’ & ‘B’ both are correct and ‘B’ explains ‘A’ exactly.
3 ¢ ‘A’ & ‘B’ Bolr £33 5080 ‘B’ pdy@ore *A'R D808,
‘A’ 13 correct and ‘B’ 1= incorrect
4 % A’ 5038 bcin ‘B’ {85650 h.

Question Number : 134 Question Id : 7150531208 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The process of destructing of disease causing micro-organisms in milk is called

Options :

white revolution

pasteurization
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animal husbandry
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3 % 385 aes

adultration of milk

Question Number : 135 Question Id : 7150531209 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We know that frog 15 an amphibian. When 1t goes deep into water it uses 1ts special

organs to breathe. These are called

Spiracles
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Skin
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Gills
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Lungs
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Question Number : 136 Question Id : 7150531210 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These were well acquainted with bee keeping 4000 yrs. ago.
2188 4000 Hose ore Sdah 838iie BodBo 8o erre Senid.

Options:

Rus=ians
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Indians
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Greeks
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Question Number : 137 Question Id : 7150531211 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The special defensive cells present in the guter layer of the body of coelenterates

like Corals are
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Options :
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Cnidoblasts
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Interstitial cells
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Question Number : 138 Question Id : 7150531212 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In blood clotting process after an njury. thrombo kinase acts on pro-thrombin and
converts 1t into
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Question Number : 139 Question Id : 7150531213 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The biggest meltdown of Nuclear power reactor in the world occurred in
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Options:

Loir-et-Cher, France in 1969
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Fukushima, Japan in 1978
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Chernobyl, Soviet Unign in 1986
3 v BE%0E, 19865° BEDHS SLrIHS

Cirus, BARC, in the outzskirts of Bombay in 1991
4% Foeron PSSR R | erer etrdn’ 855, Rows, 1991

Question Number : 140 Question Id : 7150531214 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Water released from dams and projects during floods 1s measured in
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Options :
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Litres
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Question Number : 141 Question Id : 7150531215 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Plants use only 1% of water they absorb from soil to form carbohydrate. The

remaining 99% 1s released 1n to the atmosphere through
g I g
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Question Number : 142 Question Id : 7150531216 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Identify from the following laws, that was not propounded by Mendel in his laws of
inheritance
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Inheritance of acquired characters
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independent assortment

v L e
s rC-n“_._',rOif_'E' oJP a0l

Question Number : 143 Question Id : 7150531217 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of steps in scientific methods in finding solutions to

problems
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Form a hypothesis, Plan an experiment, Conduct the experiment, Observe and

ask a question, Draw conclusions and communicate results

HB50HN ErEroboito, PEAPMY FHerds §i55 Babdo, PEPMY AB:Erosto,
58890Ko HB0 B Ko, Apimer Fdhiko HBAM HDEeDH BIHEDEo

Obzerve and azk a question. plan an experiment, Form a hypothesis. Conduct
the experiment, Draw conclusions and communicate results
&
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ErePofodio, AP Adiroddo, f’@gtia“ab 36hdo HBdm  DHdEredh
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Plan an experiment, Conduct the experiment, Observe and ask a question,
Form a hypothesis, Draw conclusions and communicate results
HEPrRy Herds 858 Tohdo, PEPPY Airosio, H8EDoNKo DB
3 % Erdoiito, HB8e R drarobodido .?’J-%r.‘j'sﬁa:: FoHido 26cH HOFedh BDchEchdo
Plan an experiment, Observe and ask a question, Conduct the experiment,
Form a hypothesis, Draw conclusions and communicate results
BErrdy Perds 8358 Dohdo, HBEDoNKo HBAM Hoiiko, EEPT
Aeroto, 208eEN  GrEPoboiio, eielloy d0ho HBan  HDEeH
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Question Number : 144 Question Id : 7150531218 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The body's only nerve cells that come m direct contact with the outside
environment are in

&

i mwuop @85 Domotio $OA GoG el Saren B

-J'
-LAJ':-

Options :

eves

Question Number : 145 Question Id : 7150531219 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Students will be able to classify elements based on atomic numbers and electron

configurations. Which academic standard 1s this?
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Options :

Conceptual understanding



Experimentation and field investigation
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Application to daily life
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Asking questions and making hypotheses
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Question Number : 146 Question Id : 7150531220 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In Collaborative learning approach, make sure that the students in the group are
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Homogeneous

Heterogeneous
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Question Number : 147 Question Id : 7150531221 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

To assess students process skills, we use
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Vogel's evaluation scale

— ’
i e TV LV e M -
o N1 «0TPER0S50 re
] ()

Hunter's score card

", PN e T B =y =
arotyd B0 5256
o [ ]

Rating Scale

Question Number : 148 Question Id : 7150531222 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



As a security feature a high school student based on his learning at school has
developed a device and installed 1t at his gate. Whenever anyone touches the gate

an alarm rings. The behaviour of the student relates to this objective
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Question Number : 149 Question Id : 7150531223 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The sequence of steps 1n the 5 E's instructional model for constructivism

developed by Roger Bybee
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Engage. explain. explore. elaborate. evaluate

. s = a8 A B Lo S S
Lo ddbtto, DHBoBto, BIaodto, A:398BoHto, sireroido ddbto

ﬁ =
Engage. explore. explain. elaborate. evaluate
» soiho Zohdo. ®arhosdo. Dbosdo, DHD%803Eo0, srerio8o a6hdo
Engage. elaborate, explore, explain, evaluate
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3 % Qoo T Do0&o, DHDEB0SE0, wF-0%5%0, D8BoSEo, soreroio ddbio

Engage. explain, elaborate. explore evaluate
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Question Number : 150 Question Id : 7150531224 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of learning experiences in the Edgar Dale’s Cone of

Experience from bottom to top of the cone
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Options :

Direct purposeful experiences. contrived experiences, radio. demonstration,

verbal symbols
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Direct purposeful experiences, radio, contrived experiences, demonstration,
verbal aymbols

D& PAr2d wdgoren, OAOP, 588 wdhdaren, HE00en, THE Sosaren

(SIS o Eheld A el

Direct purpozeful experiences, contrived experiences, demonstration. radio.
verbal aymbols
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Direct purposeful experiences, demonstration, contrived experiences, radio.

verbal aymbols
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